K)Ae/{ Ot'C,é/ Fq// b? M"c/{erm/ EECS 3073

1) $:ab+zod = F5+ed = at-id

i -
i—'—Do‘f) ud —
e 3
ct-I
1. L+7 WM -
! +cjb+c0/. Irverdef &4»/;4‘/4’%
pw-a&ka i{_lé+§p_{_
- db - zd
A < (&'+(>)(c+])
b b d
_ +
a-| b



2) ¥=2 (o, L 6)+dc(3, “)
1-505 7 w59

010 =, 0otov 0OIX
11 d00 X111
o1 E. 911v

100 Z_; 171"




mngdeZ ZanaciZoa,
MW e Aocoler 4o
%%i A{Qa @2_V\7~' QK.

He oo cn Zlsln] doverTons 75
[19:07 vowenosr =T lao n] PGS +[laon] I QL
H'\”njz*‘.?"w Y/ 48 =n'r/31n7 P J*nﬁjm-]ﬁ/"//@(

Lo po o IHEL onid PP



